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For use with pages 72-79

Date
ldent_ify the domain and range of the given relation. Then tell whether the
relation is a function.

1.(0,3),(1,1),(2,2),(3,4),4,2)
Domain ‘50,1,2,3 3
anif_';ff)z.) 3)4
Relakion is a funckon

Domain = E’Z)ﬁ}) o,

15 Not a

Rodation
| and 3

Use the vertical line test to determine whether the relation is a function.
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2.4~2, =01 ~1) 0,103,105

3

nctron

becuuvse O 15 ‘p“;F‘e”I L

Graph the equation.
6. y=3x+ 2
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Name

LESSON

21 Practice continued
. For use with pages 72-79

Tell whether the function is linear. Then evaluate the function for the

given value of x.
15. f{x) =x + 5, f(—2)

yes
(-2)=-2+2
£62=3

Algebra 2
Chapter 2 Practice Workbook

~=r

Ao 22 v — e
Tjof#)i X2+ x =21

yes X’&?Eﬁ’ifn
)= V-2
$0)= O
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17. fx) = 3 = 3%, /(2)

€5

£ (z) :3—{5(2.) :j——é

$2)= 3

20. f(x) = ?‘ R C))

£ 5(1) 0
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é) m Pra ct|ce continued
% For use with pages 72-79
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In Exerci
ercises 21-23, use the following information

I GA Mone List h

c tabl(, be]() ShO S the to
1 ) y T C W . W 8] five pla ers on the 2005 PGA Tour
Ilolley llSt lhrough June Sth along Wlth the numbel’ Of ngs fOl eaCh pl(;yer ’

Playe \ s : U oret was ]
yer Vijay Singh lLPhll Mickelson ll Tiger Woods . David Toms 1 Kenny Perry ‘
Wins, x l 3 | 1
| 3 1, 3 \ 1 \ 2 \
Dollars, y \ ’ 5 l
(in millions) I 3 42 \ 4.1 \ 33 2.5 4\
. 1

21. What is the domain of the relation?
Domain = g;D;)LB oL 5132)33

22. What is the range of the relation?

Rarge = £5.3,4.2,% 1, 3.3,2.53

23. s the amount of money earned a function of the number of wins?

'NO) +here. ave dg:erzrs’r monaij am0uv\+_‘€

u\))f\s Wi
|

In Exercises 24-26, use the following information.

b

Furniture Assembly At the beginning of your § hour shift. there were 42 units of
furniture that needed assembled. The number of units 7 that still need to be assembled
during your shift can be modeled by a(f) = —3t + 42 where ! is the time in hours.

24. Graph the model. ___t_—_ ¥ ({:)
O\ *Z
3| 33
%z Lr‘
gl 19

Units

e wduld be
rﬂrﬂfﬂé@"MM g < el )mo_%sg, |

ﬂww (¥ hour 5"”9'

i d range of the model?
25. Whatisa reasonable domain an 2 Uj(}
ﬂ re_asonab[-e f\ULYY‘h_f 0’:‘" L}L)’e\:b w ) Ln & 42' L
l nd L’Il'/\ lus‘\/d‘;houmof 7 ur\ly b&
need to be assembled atter you have worke ( q ggbm b lod )

26. How many units still

your shi-ft? n(g) > ,,? ]("j):l?;z Algebra 2
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% Practice
=l For use with pages 8288

1. (2,1),(6,9)

-m=q,_“]__-;,.8_. ‘-—‘—E

-z %

’* 3. (=3,2),(6,-1)

o el w o EIEL
m = 3

!

. —a-(5) =521 7]
m= -z

__Z—O -

Tell which line is steeper.

{
=
\
W

Line 2: through (4, 2), (8, —2) Line 2: through (0, 1), (=3, 7) -
l || > m | Linel 7
o o - - -\t OME
¥y = - = ]-\\7\}\5%\\')1_&_'03_ :Elﬁ\z/l,
21 LY o
ST Liné 2 (17"-
m -~ "Z"Z— T i
2- —_— ‘9 - ‘3
gy my > ) -e T3
. —————— - :#,)7:
6-5
~~ Algebra 2
> gn Chapter 2 Practice Workbook
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5. (0,—5),(—2,-9 6.

7. Line 1: through (=2, 2), (4, 3) 8.
Line 2: through (2, 3), (6, 4)
— TV m
e _?_7_,_..25 = _lé- m2_> |
42 D R A

9. Line 1: through (1, 1), (3,0) 10.

Find the slope of the line passing through the given points.

2. (], [),(2,"'5) '
- /5/) z ’E -;EGZ)
_— _ I

Line 1: through (5, 2), (7, 12)
Line 2: through (=3, —1), (=2, 3)

Line 1: through (3, 8), (6. 17)
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Q) '!:ra (‘._:tlce continued
4 or use with pages 82-88

I
e h r the l 'y 7 , -

11. (=2,4),(2,5
et o 1T PPORERN
=19 = | N f R X T
l \se2s il 3-7 .
St . 4 _ . (5,-2),(2, -2
2-8 o S0 $alls " 25 3
15. (9, — — |
(9, —3),(—6,4 16. (4,5),(21,5) /w{\’LQfL

m:;t:g;az - , — Slope 2o (R "
214 |1 ol

Tell whether the lines are parallel, P_e/rgggg_'igﬂlar, or neither.
17. Li : thr - -
Line 1: through (=6, 2), (3, 5) 18. Line 1: through (7, 3). (8. 7)

Line 2: through (4, 1), (1, 0) m, = m

m=2-2 - % 50
%"/ g"(o) —-Iq Pg_(a,\b\
m = &Y . = ==
19. Line 1: through (5, 2T —T7) 20. Line 1: through (5, 9), (7. 13)

Line 2: through (—1, 3), (9. -1 Line 2: through (0, 2). (4, 10)

{z—',{’Z/”q L ' - -
T2 A 3T e =120 4

s

4 *[’I) . I 5 | o 57
a weekend camping trip with 110 miles on
of your car. When you returned on
gallons of gas left. What

mL: '_"3 = /_&«:."’_L’/.‘ m7/: /0/2 ’;5’ ,@

21. Fuel Efficiency On Friday, you left for
the odometer and 14.5 gallons of gas in the tank
Sunday, the odometer read 299 miles and you still had 7.5

') - -
22. Production R)ate hen you started your shift at 7:00 AM., 120 steel valves had % 20
for assembly. At 3:00 PM., your shift ended

achined and were ready
for assembly. The target G

already been m
completed and ready

Copyright © by McDougal Littell, a division of Houghton Mifflin Company
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was the fuel efficiency of your car on this trip?
" ) é_lﬁg::_ﬂ(-l - lﬁcﬁ = m V/CA-\ ,
. ,

ur __,___’———‘

and 424 steel valves were now : :
production rate is 36 stecl valves per hour. What was the produglon rate for Yo
shift? Would your supervisor be satisfied with the work D"“':,r 5 | ‘ 6 \,)_ 1{33\‘0 1Y,

: |16 _
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% Practice
&, For use with pages 89-97 \ %
Find the slope and y-intercept of the line. 1!) %
1. y=7x+8 q 2. ¥="13‘(0

1% b0

' }j— = ~%U’5

Find the x- and y-intercepts of the line with the given equation.

roymamt OFUR-| gk m o= oes 02
w t G'{é@)

10. v=5x+1

X1 0=

>
)
12. v

14. 2x—3y+ 6= 0

JJ | 2x+ez0
FOTE R S

15 7\ 14y —5=0 ’ H 16. & —2y=1]
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]) 3 For use with pages 89-97 . '?,'
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M Ko <

Gl'aph the eqUa:QOH

24. 12x— 8y = —24 69\)0 ]
AT B )
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LEZSS§" Pra ctice contined
. For use with pages 89-97

X d‘ o each
31. Hot Dogs and Hamblurgers The caterer for your class picnic charges 31 1i(;1rat
ode

hot dog and $2 for each hamburger. You have $48 to spend. Writc 2 Il B
shows the different numbers of hot dogs and hambu;iers that you could pu :

X+ 2y =45

32. Commission A car salesperson earns 2% on used car sales and 6% on ne\i car

e — s
sales. The salesperson wants to earn a $7000 conimission this month. Write a model
that shows the different sales amounts of used and new cars that can be sold to reach

the target commission.

LO2X + 40(0\1 = 7000

In Exercises 33-35, use the following information.

Airplane Landing An airplane’s altitude is 100 feet as it is descending for a landing on a
runway whose touchdown point is 5000 feet away. Let the x-axis represent the distance on

the ground and the y-axis represent the airplane’s altitude.
33. What is the slope of the airplane’s descent?
— [et = Jod
2=l !
20

5040
down | ¥+ For an’aop?

34. What is the y-intercept of the airplane’s descent?

(o) 100 Fir Brgonicg altiede

35. Write an equation of the line that follows the path of the afrpl:—me’s descent.

==Ly +/f00
Y Zx T

= mx +
Algebra 2 (ﬂ b
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Practice
For use with pages 98—104

) " )
e\ | \

Write an equation of the linethéthas the given slope and y-intercept.
2

1. m=3b=—4 Nm=—-4p=g M 3, =M b =

=Y y=0%5 |
° y="1x+0 b= 5

\5-—-'\69- m&ﬂ '\L‘\ i
Write an equation of the line that passes through the given point and has ‘ _ L‘& .
the given slope /__f\ (j(\’bﬁf\
(453),m =1 5. (—-1,1),m=-2 D (12, 4) m~0 \ )Q G
= _"_\ /_.—-9'-—’
; —
1- (R A G P S W
./ . l ‘ V“
+7% % o —x -2 |

=2y - y=oKx-12)
Gezeoll 500

A = \(-23)m=8 9. LSOJm——s
=)y s@% =)
| ‘”"1, (a }i/—g;a?)’_

Tif%xtélﬂ

Write an equation of the line that th the given point and
satisfies the given condition. T ————

e
10. (—2,3) parallel toy = 4x =3

[m=t Y

D Ay -7 2%
R e

w5\—7

11. (3, 7); paralleltoy = =3x = 6

i § W) IR —

- d ulartoy =
12. ( 1, —4); perpendlcular toy = 2x 13. (6, —2); perpendic

—Lm—iq/

- )k‘H)
@+% A h

+Z’ 5()( &’P

: 5 \

*¢’5 %
4/5( 'éAlgebra 2
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LESSON Practlce continued \b'\/ g‘\f\h élbpl

2.4 For use with pages 98-104

Write an ec!g;‘tion of )' at passes through the given points- )”"i :ﬂ){"Z)
14. (3.4).(0.3) =54¥ D 15. (-3, -3 (21D 5 =

I _ 4 —¥ +=
- _— - - - ’3 - - -
et 2S5l mrg e P2
S 8 02 -3 \3 . ”%‘L &
16. (=5, —4) 17. (1, —4),(—2,6) "’O(X“"D

18. (2, 8). fj l"'; 7“”5 19. (~8.-3),(7,0) I XS

~ALHIO o3 -3=L
tr ™ 918 'S‘LE’

e

> rd

tﬁ ’)/7( W v {

23. Video Store The membership to your local video store is $10 per X"?l and the DVD
rental rate is $3.95 ]_)_Cr DVD, Write an equation that models the total amount of

money you will bpmd on DVD rentals this year {:‘

4=3 55 £0) B 200
-~ X+ b ) i P
I’ Exercises 24 and 25, use the following information. ‘50 . ’le :&f\, / 1
Postal Rates The price for U.S. postage stamps has increased over the years. Since 197% ‘ 50
the price has increased from $,13 to $.37 in 20()5 at a rate that 1s approx| mtcb}mec

- ’ [3D 37 3 7)

Write a lincar model for the price of stﬂmps during this time penod L& represent
the price and 7 represent the number of years since 1975.

V; 003t .15 m= gj/\%

.;u‘ O

25. What would y%cx cct’tlgc price of a stamp to be in 20157
- ‘q -

(4*53““4’\3
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Name

o | Practice continued
25 For use with pages 107-111
ct variation. If it does. give the

Tell whether the equation represents dire
constant of variation. :
18. yt2= 8x ‘

\/:8'1‘2

16. 6x+y =2
= Xt 2

13. y=—X

B

Tell whether the data in the table show a direct variation. If so, write an
equation relating x and y.

. N
21. Reading The number of pages p a student can  read varies diregtly with the > amount

,oig_igﬁj in minutes spent reading. The student can read 90 pages in 60 minutes.
Write an equation that relates p and 7. Predict the Mthe student can
read if 90 minutes is spent reading.

- = = 2-—@‘
f:k*‘ =10 -2 P z( 1)
Gn= K (60) = 3(¢5)

22. Movies The cost ¢ of going to the movies varies diriect;y W itL th;é number n of \
[\):,ople attending. A group of four paid $14 to go to the movies on Friday. '
rit uation that relates ¢ and #. How much would it cost for 7 peopld ’

“to go to the movies? ﬁ 0 Pﬁ*
_ . s (7 = B4 = 4'5 § VA
c=kn -1, c=Z7)= %~ >
W= (4 24 wL
Algebra 2 K= %_ ‘ fs?
Chapter 2 Practice Workbook
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Practice

For use with pages 112-120

Draw a scatter plot of the data. Tell whether the data have a positive
correlation, a negative correlation, or approximately no correlation.

1.

Approximate the best-fit
3.

x| 0 |05 | 125 | 275 3
y|-35] =2 | —075| 125 | 25
x| 35 | 425 | 475 | 525 | 6
y | 325 5.5 J 7 8.25 l 9’&
x| —15 | =1 | —075| 0 | 15
_525 | —25| 4 |575|-175
x| 2 |225] 3 | 35| 4
vyl —3 | 425 | 55 | 175|125

ting line for the data.

a.

§_~J<:>

I = e

s

Algebra 2
Chapter 2 Practice Workbook
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Pra ctlce continued
' 2.6 For use with pages 112-120

Draw a scatter plot of the data. Approximate the best-fitting line

for the data.

1 1.5 TF_Z?

l

-275|-17|-05| 0

——1

|
2|

{x‘ 3 )3.5 4 4.5 5
s |

12 1.9 25 123

6.

X

y

X

Y

Lj‘.i = ’l
7.

]

< | x|
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For use with pages 112-120

] LESSO 1
3 PraCtlce continued

I .
n Exercises 8-10, use the following information.

Softball The table sh
e shows thfi numFer of adul}t/softba% teams E?r the years 1999 to 2003.

Momr

\1999 2000 | 2001 | 2002 | 2003

Number of teams
(in thousands)

163 155 l 149 143 119

8. Draw a scatter plot for the data. Let # represent the number of years since 1999.

l

Number of teams

170

- a3

B~ O

o O
1

-
|

Y

i

>
o
i
S
= ‘_Ek

{thousands)
o @
o

N
(=]
{
1
N
i
|
{

01234565
Years since 1999

9. Usinga graphing calculator, approximate the best-fitting line for the data.

70. Using this model, pre

STHT EDIT L_\)LZ od O pLoT on
A Xmire0

I(W\Ax: 5@
X scL =@/
leih“".ﬁ ; H://OX */égtg
ywwv"\ = \7‘)
JoeL= 19

dict the number of adult softball teams in 2010.

V5L Ly
st CALC 9153’0’\%:

S ye-elrie
_:_____‘E/]- 6 j _ 1 -+ bgl g
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| Practice

. For the function (a) tell whether the graph opens up of
(\r\g the vertex, and (¢) tell whether the function is wider, narr
same width as the graph of y = |x]|.

1. y=—|x+1}
R ooV
m \[(.'\)Q
cq4%@6wﬁl

4. j'(.\‘)=llx+2l + 8
O
© (-28)

C,-') A O

7. y=3lx+9 -1
a)y™
b) (—%-’D
) Narowes”

Graph the function.

b e
R T N
: |
Lo S |
- -— 7r,_.,7 A l SRS SRS S S
H { ! |
L ‘ t | |
! =
LNy
e
i
\
i
]

Algebra 2

For use with pages 121-129

10. y=\]x| -3 \ba
Ny

ANEAS
i?h\‘ 2404/

down, (b} identify
—harrower, or the

lj.: a

__4|_\.+2l + 2

2. f(=7|x-3]| -4 3. y=
0) oprd VP § v
PR ) (-2,
m\(( ) 7 c) harrov*’e()

C,\ N0 wey

5. y=—%]x+l| 6. f(x)="|«". =35
a) 3N
9 (%)

o) wi C)SOLMQ_.

8. f(.r)=%\x+3|—9 9. yz“_%'«\"l!-%-l
@) D

o) (37D B) (1,0

0) wider

11. f(x
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Name
Practice continued
g A For use with pages 121-129 O\
_ \ » \ 0/(
13. y—é|x+1\~1 14, f(.x)=-;—|x—3|+2 15. y=—3|x—4| +2 A (O E
g’ 2 P2 24 A2 |
TP T WA
o T 1717 1
oo L ’%
i d %
Ll L 1]

YW\((OW
(69 [
Write an equation of the graph shown. ' ..
TPy (PR
A- ,l?, :‘-ZJ: X +2} _._5 :rl
k)

£

8

€

=2

S

S Wy
é Let fix) = x + 2. Sketch f(x) and then sketch the function y given by the ;
?, transformation to fix). - A (x *
S \ _ - |
2 e -+ 7 ‘7‘* 20. y=f&—2) 75 &)
El T 7/ | x |
= 7 _[ b
S
2
© - :
= L x|

=2 g

8

"
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L;sou Practice continved Y= X+2

for use H{irkpages 121-129
: Shnin
| P N
22. y=7/f) 23. y=3f(x+2)-1
i Pix) “ A

EREE R

oy

Y \QEI) ‘;‘jﬁ—

—z\ ) \'o
| ) -+
(&) z ;,

In Exercise5225—27. use the following information.

Speedbeats The number of boats B a boat dealer sells in each month of the year can be
modeled by the function B = —15 |7 — 5| + 120 where ¢ is the time in months and = 1

represents January.

25. Graph the function for 0 <7< 12. /L,YvefyUH'\ﬁ
By T T 1T T 1iT17 111111 'é"B

A | " - 20
e NP ZA RN IEE
fwl S| D
§ 60/ | , \ /7—- >3 - |05 +120
LS RN LS
20 )

0123456 7 89101«
'~ Month

(5)120)
26. What is the maximum number of sales in one month? In what month is the
maximum reached?

mmA)ZiMUM5O‘CQ is 2o in Morth

(12, 19)
27. What is the minimum number of sales in one month? In what month ig the
‘migimum reached?

'_ﬂ\a A LA Uy 50\& 5 |5 A MOY'\:-Hr\ )a

{

;i

i
i
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